












































































































This proof is not required
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The Quadratic Formula












must learn

The solution to ax2tbx c 50

is givenby
b Jb2 Aac

Za

Ext 22 7 5 0 a _I

b 7
c I

1 7 Iffy 4cL C5
2 1

x 7 149 20
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x 1 71 529 or x 1 7 12T
Z Z

X 6 19 x 0.807

The Quadratic Formula



Ex2 5 2
14 3 0 a 5

b 4

X b Iff da
c 3

Zoe
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x If 16 60
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x 4 526 or x 4 26T
1010

X 0.472 X 1.27

Exercise solve

1 I 17 8 0

x L or x 8

2 2 2 11 5 0



X E or X 5

3 3 2 Tx 6 0

x 3 or x

4 75 15 3 0

X 0.223 or x 1.92

5 6 2 5 8 0

x 0.811 or K 1.64

6 4 2 10 3 0

x O 349 or x 2.15

7 35 K l O

x 0.768 or X O 434

8 9 2 11 3 0

X 0.811 Or so O 411

9 K2 56 11 0

X 55.8 or x 0.197


